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Question 11- The efficiency of P 1s 30% more than Q. P can do a WOI’k— n

30 23 days. In how much time they will together complete the whole work.
T 5- P Sl Shreqdar Q ® 30% 37fereh gl P Ueh i ol 23 &1 o ot TandT 2

o Ueh @Y G T ol foh = SHT H U U1

A.12 days

B. 15 days

C. 18 days

D.24 days
—E7”None of these

https://t.me/mathbytarunsirmepl
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Question 1- A train 600 m long is running with a speed of 72 km/h. Inu

{0 what time will 1t cross a telephone pole?

T 1- 600 HeX Tl Weh o 72 Terei/erer 1 nifa & =t & R) forae o9 1 9"
Ueh <A1 o @Y ahl I hTT?

A.20 sec
B30 sec
C.45 sec
D. 80 sec
E. None of these

https://t.me/mathbytarunsirmepl
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54 -
Question — A train running with ,@crosses a 200 meter long

brldge in 1n 18 seconds. Find the length of train in meter.
%ﬁmﬁﬁﬁdm 1At ek ¢ 200 HIST el It ol 18 Hehe
ﬁW%‘“&ﬁ%l X § 2 ohl TaTS 1 Shifor|

A.200 m
B.300 m
C.400 m
D.360 m

__ENone of these

https://t.me/mathbytarunsirmepl
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Question 2- A train cross a pole and a bridge 200 m long 1n 6 seconds

{0 and 18 seconds respectively. What is the speed of the train?
Teh ¢ 200 HIS sl Toh G 3R 200 HIET el IeT ol SHAIT: 6 Hohs I 18
Hehe W IR Ld gl 2 ahl 1T T 87
A.20 km/hr
B. 30 km/hr
C. 40 km/hr
P60 km/hr

E. None of these

https://t.me/mathbytarunsirmepl
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Question 3- A train moves with a speed of 144 kmph. Its speed in metres

30 per second 1s
T 3- Weh o 144 Tt g =i <t 7ifr & =retat 21 Hiet ufa Sehs | s6ehl i

AT 87 9
D a4y 5
)

= Yo m/&(_ A.35 m/sec
— B. 45 m/sec

=40 m/sec

D. 50 m/sec

E. None of these

https://t.me/mathbytarunsirmepl



MISSION BANK-2024 %, 3=, (5




MISSION BANK-2024 3%, ae s (g

Question 4- Two trains of equal length are running on parallel lines in
{0 the same direction at the rate of 56 km/h f and 46 km/h. The faster train
passes the slower ®train in 54 s. The length of each train is
T 4- T TGS ohl & o THHI ATST 9 T TSR H 56 TohH1/EeT 3T
46 TeretyereT &6t i O =it T 8 o 7T W =ele arett o eiHi@ 7 =t 54
N Tehs T I hid] Bl Tcdeh ¢ shi TS o7 87
dall B _A75m

;éf»bm’{-{ 7 ;&JW C{XNC#/V) Wqéve /(lQ,,H B 50 m
S d = (F=Otm]f C.80m
ap‘“lﬂ ELWH] Bﬂ ,&P :@H-Bg%m D.90 m

E. None of these

https://t.me/mathbytarunsirmepl
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Question 5— If a person travel 5/6 of its usual speed then he reaches to Ahis

destinatio@m . Find the actual time to reach the destination.
T 5— Ife hig Fich YT GTHIT T & 5/6 ATAT hLdT @ dl 98 379 Tded I
30 THeE <t § UgerdT 81 Ticisd ok Uga o SITecicrsh G ST ohi i)

WW =5 é—/7 wa | A.2 hours

MW —GXC 6\) | B. 3 hours

B s %CJ C. 4 hours

— 5 D.5 hours
_=+=None of these

https://t.me/mathbytarunsirmepl
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Question 6- A train travelled at a speed/of 30 km/hr and reached
30 destination 20 minutes late. Had the speed sed to 40 km/hr, 1t

would reach the destination 20 minutes early. Find the distance travelled

by the train.

Teh & 30 TeRHl/EreT <Al 1T § AT L] § SR e W 20 e o § ug=d!
g AfQ T 40 ToRHi/EeT deh SIg ST, A1 I8 Tidsd 9X 20 THe Tt I8 Sl
S R O <Al 715 g ST shifsra

N A.50 km

-0 F ™o B. 60 km
C.75 km

—P. 80 km

https://t.me/mathbytarunsirmepl E. None of these
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Question 7 — A person travel from point A to B with speed 32 km/hr and
30 returns from B to A with speed 16 km/hr. If the total distance travelled

by him 1s 256 km then find total time taken by him.
Ueh Afh (oG A & B ek 32 Tehei/EieT 3t 71 & 01 hLdT @ AR B # A 0 16

ferefi/eret 2T TTfer & Sitear g1 afe 3ueh gTa o sht 118 et gl 256 Torrft 8,

36 I foTam TRIT el S Tl b1

A-12 hour
B. 14 hour
C. 16 hour
D.20 hour

https://t.me/mathbytarunsirmepl E. None of these
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Question 8- Two trains departed from station P to Q at 11 AM and 11: 30

AM with speed 60 km/h and 75 km/h. Find how many kilometer from P
they will meet.

T 8- &1 ¢ TR P H Q o eI ¥aTe 11 &11 37 11:30 sS4 60 fewi/eer 31
75 Tehelit/eieT sht TTiet & e €81 ST 2hifor fob o P fehe fenetiefiet sht it
T et

A.80 km
B. 120 km
—€:. 150 km
D.90 km
E. None of these

https://t.me/mathbytarunsirmepl
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Question lOof a Jjourney covered at 40 km/hr ,one fourth atA_3O

30 km/hr and rest at 5 km/hr. Find the average speed of whole journey.

Ush AT kT Ueh (T3 W 40 ToRH1/EieT, Ten =g WHT 30 ToRHl/sieT ST Y 5
fepwi/eieT 3Bt TTid & o foham ST 2| O AT oAt ST TTid HTel ShifsTg)

Tee——

3 Z}_ A.48 km/hr
- - B. 50 km/hr

C. 44 km/hr

D. 30 km/hr
—E. None of these

https://t.me/mathbytarunsirmepl
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Question 11- The distance between two cities P and Q 1s 480 km. A train
30 starts from P at 8 a.m. and travels towards Q at 60 km/hr. Another train

starts from Q at 9 a.m. and travels towards P at 80 km/hr. At what time

do they meet?

T 11- A1 34 P 3T Q o oft=r skt gt 480 forHft 21 Uoh ¢ P 4 Holg 8 o
A.1TPM kTl & 31T Q =T JR 60 TeRHl/EaT <Al Tl & <Ietdl 81 Toh 3174 ¢ Q § YsTg
B.2FM 9 ST ehetdT § ST P aht 3T 80 TehHi/sicT <ht i § =rerdt 8l o Tohe v
C.3 PM firery 89

D.4 PM
E. None of these

https://t.me/mathbytarunsirmepl
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Question 12- A train crosses a person walking in same direction on track
in 20 seconds . If length of train 1s 300 meter and speed of person 1s 8

km/hr then find speed of train.
T 12- Teh o ¢oh T GHH {3 | =t 1@ SAT<h ol 20 Hehe | IR hid! gl TS
T <hT elTs 300 HieT & 3R =afeh st wifer 8 ferei/sier ®, a1 3 <t 7ife 31T
Fifer

A.28 m/sec

HOW W@k B. 30 m/sec

C. 38 m/sec
D.40 m/sec
E. None og these

https://t.me/mathbytarunsirmepl
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